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Social development of a person starts at this developmental stage

1 Early childhood

2 Late childhood

3. Boyhood

4 Infancy
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According to Erickson the Psycho Social critical situation faced by

Adolescent children is

1 Industry vs Inferiority

2 Intimacy vs Isolation

3. Generativity vs Stagnation
4

Role identity vs Role confusion
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The aspect which is not related to Mental development

1. Thinking

2 Attention

3. Language development
4 Physical growth
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The method used to solve a problem of a problematic child by

carrying out comprehensive enquiry.

1 Case study method

2 Introspection method
3. Observation method
4

Survey method
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A child who has never seen an aeroplane, recognizes the aeroplane
in the sky as a white bird as he sees it for the first time - This
cognitive process is called

1.

2.
3.
4.

Organisation
Assimilation
Accommodation

Equilibrium
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One of the following statements is false regarding attitudes

Persons attitudes can be known by their external behaviour

Attitudes are not separate from the person but work
along with his mental abilities.

Attitudes are stable right from the birth
Attitudes are formed through learning.

SPHOH V020H0N (308 TS 0SS (HSSS0

1.

2.

SEO IPEOS rIYRSETe TRoe BeonS Ko

SpWen 586" G GOLE S IrSE FHS® 5O
DAV 00

PP PHIV)A S0 HTOM e0eraw.

PO BLIFOTO 9 V) ES=a



The famous cricketer Sachin Tendulkar was poor in his school
studies but he became world famous icon in cricket. The defense
mechanism followed by him is

1. Regression

2. Compensation
3. Withdrawal
4,

Displacement
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The moral stage of a person who expresses "with due respect to
human rights mercy killing shall be left to the option of the sufferer,
if necessary relevant laws shall be amended for the welfare of
society"

1. 3" stage — conventional level
2 4™ stage — conventional level
3. 5" stage — post conventional level
4

6" stage — post conventional level
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The intelligence test of Ravan's Standard Progressive Matrices is

1 Paper pencil and Speed test

2 Performance and individual test
3. Verbal and individual test
4

Group and non-verbal test
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10.

One of the following is not to be adopted in schools in order to

develop mental health of students.

=

3.
4.

Making the children to play and do exercises

Make the children to study without pause and ask them to get
good marks.

Prepare syllabus commensurate with students maturity

Make the students fearless about studies and exams.
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11.

12.

Raju doesn't want to tease his sister but at the same time he doesn't

like to share his toys — The conflict faced by Raju is

1
2
3.
4

Avoidance - Avoidance
Approach — Approach
Approach — Avoidance

Dual Approach - Avoidance
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IQ possessed by majority of the people in the population.
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70-90
90 - 110
110 - 130
130 - 140



13.

14.

Ravi learnt to write Urdu with right hand. But without practice he

can write with left hand also. This is.

1
2
3.
4

Positive transfer
Negative transfer
Zero transfer

Bilateral transfer
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Lower mental function, as per Vygotsky is

1
2
3.
4

Discrimination
Knowing
Reasoning

Synthesis
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15.

16.

One of the following is an incorrect statement.

=

4.

Reponses in Pavlov experiments are emitted

Classical conditioning is also known as 'S’ type conditioning.
In operant conditioning only the desired behaviour is
reinforced

The learner play active role in operant conditioning
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According to Gestaltists the following plays key role in transfer of

learning.

1 ideals

2 relations

3. generalisations

4 identical elements
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17.

18.

Social learning theory is also known as
1
2
3.
4
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1.
2.
3.

4.

learning by insight
learning by modeling
Learning from errors

Connectionism
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Wrongly matched pair

1
2
3.
4

Thorndike — America
Pavlov — Russia
Bandura — Geneva

Piaget - Switzerland
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Mnemonics are

1 Span of memory
2 Memory drum

3. Forgetting factors
4

Memory factors.
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Students memorising Rhymes without understanding is an example
of

1 Logical memory

2 Rote memory

3. Abnormal memory
4

Immediate memory
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21.

22.

'Fuge' is related to

1 Attitude
2 Memory
3. Forgetting
4 Aptitude
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Following doesn't come under Cognitive domain

1 Analysis

2 Organizing
3. Evaluation
4 Application
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23.

24,

According to People With Disability (PWD) Act 1995, a person is
said to be hearing  impaired, if his hearing loss is greater than or
equal to this number of decibels is
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This curriculum construction principle indicates the correlation

between different subjects knowledge.

Principle of creativity
Principle of activity centeredness

Principle of integration

A WD

Principle of maturity
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25.

26.

The following is not the concept of APSCF 2011 regarding
Continuous Comprehensive Evaluation

1.

3.
4.

It should observe the achievement of competency based
academic standards

It should be convenient to measure skills, analytical ability
and creativity of children.

It should be limited to written tests.
All developments should be evaluated comprehensively.
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One of the following is not related to guidance programme in
secondary school stage.

1.

2
3.
4

Collecting full information about courses
Career planning
Developing self concept

Smooth transition from home to school
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27.

28.

The following is not an advantage of a project

1
2
3.
4

develops unscientific attitudes
trains in a scientific method
gives encouragement for learning by doing

gives motivation
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As per children’s Free and Compulsory Education act 2009 and rules
of Government of Andhra Pradesh, the quota of seats allotted to
weaker sections is 25%. Out of which the percentage of seats
earmarked for scheduled tribes is
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29.

30.

The activity that is not suitable to apply to collaborative learning.

1 Programmed learning
2 Brain storming

3. Task group
4

Tutorial group
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According to Edgardale cone of experience the sequential order of
experiences from Concrete to Abstract.

A) Contrived experiences B) Direct purposeful experiences

C) Dramatization Experiences D) Study tours / field trips
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English — Paper —I1 — Set -5

The sound was a familiar one. Here 'familiar’ is:

1 anoun

2 an adjective
3. an adverb
4

a preposition

Swami went home and ............. that the headmaster beat him
severely.

The correct verb form in the blank is

1 says

2 has said
3. had said
4

said

The man who takes away another man's freedom is a prisoner.
The word ‘who' is:

1 an interrogative pronoun
2 an indefinite pronoun

3. a relative pronoun
4

a reciprocal pronoun



64.

65.

66.

67.

People who came to ............... their friends and relatives cheered
them up. The correct phrasal verb in the blank

1
2
3.
4

look up
look on
look at

see off

The coordinate conjunction among the four is

1
2
3.
4

since
while
as

SO

The shops were closed because there was a strike.

Here 'because there was a strike' is

1
2
3.
4

a noun phrase
an adjectival phrase
a main clause

a sub ordinate clause

If you leave the door of the cage open, ...............

The correct main clause in the blank is

1
2
3.
4

The bird flies out

The bird will fly out
The bird would fly out
The bird had flown out



68.

69.

70.

71.

The people followed the principles that Mandela advocated.

Thisis a

1 simple sentence

2 compound sentence

3. complex sentence

4 compound complex sentence

"Uphill task" means

1
2
3.
4

high quality work
a difficult job
an impossible task

working on a hill

The blanket is all tattered now.

The word 'tattered' means

1 spoiled

2 old

3. dirty

4 torn

Michael strove ............. perfection.

The correct preposition in the blank is

1
2
3.
4

at
by
for

with



72.

73.

74.

No other river in the world is so long as the Nile.

The correct comparative degree for the sentence is

1
2
3.
4

The Nile is longer than most other rivers in the world.
The Nile is not longer than some other rivers in the world.
The Nile is longer than many other rivers in the world.

The Nile is longer than any other river in the world.

Neelima said, "My new job is very interesting."”

Read the following options to identify the correct reported speech of
the above sentence.

a.
b.
C.
d.

Neelima said that her new job is very interesting.
Neelima said that her new job was very interesting.
Neelima said that her new job has been very interesting.

Neelima said that her new job had been very interesting.

The correct indirect speech is

1.

2
3.
4

only a is correct
only b is correct
Both a and b are correct

Both ¢ and d are correct

Hyderabad and Secunderabad are the twin cities.

The correct question tag of the statement is:

1
2
3.
4

isn’t it?
are they ?
don't they ?

aren't they?



75.
1
2
3.
4
[ 76— 78]
76.
1
2
3.
4
77.

The proper subscription for all official letters is.

Yours truly
Yours obediently
Yours faithfully

Yours sincerely

Read the following passage and choose the correct answer to
the questions given after

Teaching English through rhymes and songs create the
readiness to learn more. It arouses the learners curiosity to
know more about the language. Moreover, it gives them
confidence when they start using the language for
conversation as they are already familiar with many English
words learnt through rhymes and songs. The use of rhymes
and songs should not be confined to young learners alone. It
should also extend to adult learners of the English language
as well.

The passage is about

Teaching English in the Indian context.
Teaching English in the global scenario.
Teaching English through rhymes and songs.

Teaching English to the young learners.

The wrong statement, according to the author, among the four is

Teaching English through rhymes arouses learners curiosity.

Teaching English through rhymes and songs create readiness
among the learners to learn more.

The use of rhymes and songs should be confined only to
young learners.

The use of rhymes and songs should extend even to adult
learners.



78.

79.

80.

The word 'more over' in the passage is

1
2
3.
4

a noun
an adjective
an adverb

a linker

Read the following four parts of a passage.

a.

d.

She felt that the help came as great relief in her utter despair.

The relief team brought her and her four children to a flood
relief distribution camp which was organized by the
Government in Kurnool.

There she received rice, blankets and other supplies her
family needed.

Many private donors were also moved on seeing her children.

The correct order of the passage should be:

1
2
3.
4

bacd
bcad
bdac
bdab

The headmaster said, "l don't believe it."

The correct indirect speech for the sentence is :

1
2
3.
4

The headmaster told that he did not believe it.
The headmaster said that he did not believe it.
The headmaster said that he does not believe it.

The headmaster said that he has not believe it.



81.

82.

83.

84.

The subordinate conjunction among the four is

1
2
3.
4

and
but
or

when

The complex sentence among the four is

1
2
3.
4

John suffers from asthma but attends school regularly.
We like songs but they like games.
She was unhappy or she was upset.

If the rain stops, we will go out.

He only wished all of them.

The part of speech of the word ‘only’ is:

1 a noun

2 averb

3. an adverb

4 an adjective

His father was sad that he .............. tell the bitter truth to his son.

The correct verb form in the blank is:

1
2
3.
4

has to
was to
had to

used to



85.

86.

87.

88.

In English, the speech sounds are called:

1
2
3.
4

consonants
vowels
phonemes

articulations

The following is a speech organ:

1
2
3.
4

cheek
chin
eye

hard palate

In the collaborative teaching, collaboration can happen.

1
2
3.
4

between and among teachers
between teachers and learners
between teachers and other professionals

all the above

Cognitivists believe that

1
2
3.
4

output is less than input.
output and input are the same.
output is not always the same but enormous.

no relation between input and output



89.

90.

Dyslexiais a

1 disability in reading
2 disability in speaking
3. word order

4 word disorder

When we search for a word in the dictionary.

The strategy used in reading is:

1
2
3.
4

scanning
skimming
extensive reading

extensive reading



91.

92.

KBSTR0 - D6 -2 -8 -5
If a and B are the =zeroes of the quadratic polynomial
p(x) = x* -5+ K and o — B = 1 then the value of K

a B oo SZwnd p(x)=Xx*-5+K g0 o0 a - =1
€900 K@Jo§b_ IOV

1 6
2. 5
3 4
4. 3

If A={2,4,6,8,10,12} B={1,3,5,7, 9}
then the number of elements in (B — A)

A={246,8,10, 12}, B={1,3,5,7, 9}
oS (B - A) So&d Svrosee Doy

1. 6
2. 3)
3. 11

4. 0



93.

94.

95.

If n(A) =20, n(AuUB) = 25 and n(AnB) = 5 then n(B) is equal to
n(A) = 20, n(AUB) =25 58a5» n(ANB) =5 @awns n(B)3
SRONRITA

1. 8
2. 9
3. 10
4. 11

A daily newspaper is published with 16 pages. If everyday 15,020

copies are printed then number of pages printed in a day are

2.5 OIIDE 16 R0S® Sl (0080 @PHod. (PSS 15,020
(B0 $0B0DS 28 8erd’ Sn@osat Do vopg

1. 2,45,320
2. 2,40,320
3. 2,32,400
4. 2,46,320

The product of two numbers is 3276. If their H.C.F is 6 then L.C.M
BocH Dopge ©xo 3276 JI°Ed K. P27 6 9008 B .0

1 546
2 645
3. 540
4 640



96.

97.

98.

If 2° = 1 then the value of (99)* is
2°=1eons (99) Bow¥),. Je0s

1 12

2 99

3. 2

4 1

If a cycle is marked at ~ 3600 and sold for ~ 3312, then percentage

of discount

2.5 23S (9503 o 7 3600 HB050 ©%0y5Y Jo T 3312 @0
EOROZD FE[0

1 9
2 8
3. 7
4 6

Last year the cost of a commodity was ~ 40. This year, its cost is
increased by = 50 then the percentage increase is

K& VOSSN0 2.8 S 8 ~ 40. Bs SoIS B0 A $T 50 0H
DBARS, SSS° KGO FES0

1 25
2 15
3. 10
4 5



99.

100.

101.

If a=5 and b=2 thenthe value of a"-b" is
a=5%0805 b =2 eans a’- b B deos
1 12
2 21
3. 11
4 31

A two-digit number that is divisible by 3 is,
‘3’ I arAodE BOKO3® dogpg

1 15
2 20
3. 25
4 30

25, =5,1, %1 ... are in Geometrical Progression (G.P)
then its common ratio is

25, =5, 1, %1 o @0 Ko8(FGS° HOE Toed >SSy ING

T
5

2. 1
5

3. 5

4. -5



102.

103.

A ladder 25m long reaches a window of building 20m above the
ground, then the distance of the foot of the ladder from the ladder to
the building (in metres).

252 P& Ko 28 IBYS, K& 2000 BT Ko 2.8 $88I
THIHD WonS AF)S OEOKITEASNSD, AEDH Ko Sial{abienty
(expS?)

1 20

2 25

3. 15

4 12

AABC, if /A= /B; /B = ZC and ZC = 30° then ZA is
equal to

AABC &* /A= /B; Z/ZB= /C 58050 ZC =30° @003
LA 5 DSeSH0

1 50°
2 40°
3. 70°
4 60°



104.

105.

106.

If tangents PA and PB are drawn from an outer point P to a circle
with centre ‘O’. If the angle between these tangents is 80° then
ZPOA is equal to

‘0’ So@sore SYE08 erirgody P od PA 58c0 PB &3
Bocémo)dﬁaa@o Roﬁozacgow. 60)6_93813@ ;53&55?83;533 80° eonS
ZPOA S 55753058,

The line 2x +y + 4 = 0 intersects X-axis at this point

2X+y+4=003 Op X-955005 90&oi How

The slope of the line joining the two points (0, 0) and (\/é 3) IS

Bocs DocaHen (0, 0) 5805 (\/5, 3) oS Kot B e

1
2
3.
4
1
2
3.
4

1.
2.
3.
4.

50°
60°
70°
80°

(2,0)
(=2,0)
(0, 2)
0, -2)

Tan 30°
Tan 60°
Sin 30°
Cos 60°



107.

108.

(-1, 3), (6, -3) and (-3, 6) are the vertices of a triangle, then the
centroid of the triangle is

28 (@20asn Bn¥) §gSoew (-1, 3), (6, -3) 550050 (-3, 6) eows
e Qe KBy So(go

L (22
3
2 -2, Ej
3
s (52
3
(52
3

The area of Rectangular field is 1,125 sq.cm if its width is 25cm then

its length (in cm)

QY SETEE Fosn JFogn 1,125 $5.200.2. o Ien)
25 0., ©00S T FEY (1&g’

1 50
2 45
3. 30
4 35



109. The radius and height of cone are 6cm and 7cm respectively, then its

110.

111.

volume (in cm®)
Jogoy Toof), TFrYan S8 e KRV 6 0.2 5850
7 20.20 900085 T Ho59057e350 (395 200.2.08%)

1
2
3.
4

264
254
364
265

If the surface area of a cube is 600cm?, then its side (in cm)
25 0I5 Bk, &IOS JTogEn 600 $00.00 90N T
25023520 (0.20.08°%)

1
2
3.
4

6
8
10
12

If the rain fall of a place in a week is 4cm, 5cm, 12cm, 3cm, 6¢cm,

8cm and 0.5 cm. Then the average rainfall per day is (in cm)

28 TS, 28 (FBI0E” DES SGPS 4 0.2, 5 0.,
12 0.2, 3 0.2, 6 0.2, 8 0.2, 0.520.20 ®ans &8k
DES SEPS DI (30.2.08%

1
2
3.
4

6.5
5.5
4.5
3.5



112.

113.

114.

If the mean of 10, 12, 18, 13, P, 17 is 15.
Then the value of P is
10, 12,18, 13, P, 17 © eao§;53c5535335w 15. wo0S P ®o§b_ RIS UINS

1 26
2 28
3. 24
4 20

If tan 2A = cot (A—18°), where 2A is an acute angle then the value
of Ais

tan 2A = cot (A—18°), 2A ©:28%30 ©00S A Boo¥),. e

34°
36°
42°
46°

A w0 P

If A, B, C are interior angles of triangle ABC then, COS(B;CJ IS

equal to

B+C

A, B, Ce |98hz e90858° 58S cos( j § DSPSI6.

H

X,

S
7\
N | >
N S

!\)

(]

(@)

()]
7\
| >
N S

w

—

QD

>
VR VR
N> N> N
N N

I
(]
o
—



Paper-11 Set-V Maths Methodology

115. The Mathematician who considered “appreciation” as one of the

Mathematical value.

1. Young

2. Breslich

3. Munnik

4, Schorling

“@HIOBI” B 2.8 KAST(Y J0IT HOKEIONS KedS T°(Qentdd
1 as0h

2. B

3. 5&){)})5

4 )90k

116. The objective that does not belong to “Cognitive domain”

1. Evaluation

2. Synthesis

3. Analysis

4. Imitation

“w;wég SoX0” K RO eageg;iw

1. ;535°e7°§o§<6o
2. DOFAED
™
3. DFAE
(ep]
4, 0BT



117. The method devised by “Fedric Froebel” is
1. Kinder Garten method
2. Montessori method
3. Inductive method
4. Laboratory method
GE FBS” T WrFodoTndS 988
1 80%6 B HSS
5} @
2 5?063@38 DEH
P
3. e8K08 :acQS@
4 WBrKTe D8
P

118. The Mathematical concepts that can be developed through
Cuisenaire strips
(A) Comparing numbers
(B) Doing big multiplications easily
(C) Concept of small and big numbers
(D) Doing addition, subtraction
$5VI00E Do T BoFoloIKe KBS wrSIes
(A DOPJO ;’ﬁwgea
(B) 28 Koeaseoross 898 Bained
(C) Do, DEDOPS DRI
(D) dosos0, S§35es0 D508

1. A B,C
2 A B, D
3. ACD
4 B,C,D



119. The Academic standard to be tested through the following test item
“Find the value of 5 x 3 by using number line”
1. Problem solving
2. Reasoning - proof
3. Connection
4, Representation - Visualisation
“OOFBPRODTPAON 5 x 3 JooSH EHAS0E” B oo
Ik oA DTy Hea S0

1 263503"5 FES

2 STeTe0 TD)E0 - ATHeIen BoEo
3. V0TS0

4 (GBSO - CSJ%§§5€'B

120. The following question is the type of
“Square : 4a : : circle : 7

1 Analogy

2 Association

3. Completion form

4 Master list form

800 (pY) e EEDOSH FoBS BY

TSGR0 1 4a i Yo ¢ ”

1 3%:53%5 EH0

2 dodgo

3. P80

4. Smgd Oy B0



F°RE IS RO - 96 -2 - & -5

121. Pressure difference inside a liquid

1 Increases with increase in depth
2 Increases with decrease in depth
3. Is independent of depth
4

Decreases with increase in depth

5550 &0 & SgEgo0

1L &% RSB HES0 DK
2. 5 SAB DES0 DK
3. 2ES0 SED esqrEHEhd

4. 5 DOAB DES0 SKS

122. The planet appears to roll on its side in its orbital motion is
1. Neptune
2 Jupiter
3. Mercury
4

Uranus
83 558" o SHESHYen 50T Ko

1. 3:%5
zao)ﬁbo)e‘ia / 5858
2208080

Lo

B30V



123. The boiling point of water at one atmosphere pressure is
2.5 NTY)I0E TS STEd BES0 SE A BRSO

124.

1.

2
3.
4

100 K
-100 K
-173 K
373 K

A boy stands in front of the hill and claps. If he hears an echo after
2s. The distance between the boy and the hill is (velocity of sound in
air is 340 m/s)

1.

2
3.
4

680 m
340 m
170 m
85m

2.8 @2)a0 82085 BT do2dd zﬁboje%% §°éJ£c‘§o. 09855
BB 2 DEF SIS I, & wwnyans, SoLH DHEgie
&S50 (S &5 S0 340 /D)

1.

2
3.
4

680 .
340 .

170 .
85 .



125. The initial and final kinetic energies of a cyclist is 125 J and 500 J
respectively. The work done by the cyclist is

1. 375]

2. 625]

3. 41

4. 1y
4

238 &) 5g8 Boox), SO KBFE, BB KBHE JewSen SR
125 &°4)) S8 500 £°4Y) oS PIS ST, 5g8 DO DA

1. 375 &%)
2. 625 £
3. 4 Z°%)

1
4. 2 &)

126. The application which is not related to Faraday's law of
electromagnetic induction is

1. Security check
2 Induction stove
3. Usage of ATM card
4

Bar code reading

eitole) 3)65355 A0 (8Er A WIEI0 SIS
L %0506 38K

R0GES ¥

ATM 9685 GARBTPROWIEO

236 &0 w$5ESeE0

Lol



127. The substances with higher melting point contains

128.

1.

2
3.
4

Lower forces of attraction among the particles
Higher forces of attraction among the particles
Equal force of attraction among the particles

No force of attraction among the particles

©0Y (SIFSSTS0 Ko Dorged”

1.

2
3.
4

§e§°@3§oc‘§§ eﬁégeazooo e§§ob;5m &0eV08.
§e§°@3§oc‘§§ eﬁégeazooo CD§JZI;5N° &0eVO8.
§e§°@3§oc‘§§ eﬁégeazooo DSITPSONT GOLVOA.

§e§°®;ﬁocj§ eﬁggs'azaoo &0&C0.

In a neutralization reaction the products are

1.

2
3.
4

Acid + base
Salt + water
Acid + salt

Base + salt

)
2.5 SeQ8e 55558 SSTYe0

1.

2
3.
4

e300 + 3°80
™ (9%}

95830 + D

€300 + 935830
™

g;cio + ©3£30



129.

130.

Fe,03+ 3CO — 2Fe + 3CO;,

In the above chemical equation arrow mark indicates
1. Precipitation

2 Evolved gas

3. Direction of the reaction

4 Reversible reaction

Fe;03 + 3CO — 2Fe + 3CO, &+ $8§S° emeasy) 583 JrDoHSs.
1. WSZH0

2. REIEOONS TPAIVY)

3. 383 268 Q¥

4, &Osiie‘é 15655

The total number of orbitals and electrons associated with the
principal quantum number n = 3 is

(BT 5500 Vopg N = 3 S K e)ersy) S0k
QOIS 30@5

1 3,9
2 9,6
3. 9,18
4 9,9



131. The number of covalent bonds in Fluorine, Oxygen and Nitrogen
molecules respectively are

FOR, esd)md 508050 " HSOS” Ko HHETEI 20GFe DOPS

SEJM

1. 3,2,1
2 1,3,2
3. 2,2,3
4 1,2,3

132. Blister Copper is purified by this process
1. Distillation

2 Electrolysis
3. Liquation
4 Polling

DHE 599650 HOTA HSH
e [ev] (o]

1. eSS0

2. D&g@ﬁﬁs’ao
3. KOS0

4. FOoh



133.

134.

Biology Paper—-2 - SET -5

If kangaroo belongs to Australia and kiwi belongs to New-Zealand,
then they can be called as.......

1.

2
3.
4

Invasive alien species
Endangered species
Case study species

Endemic species

50D - es(RIATD, 8D - SrgRerobH SRS JoAIS A

e Za@ossz&:ﬁob).

1. ADFADH es|Eoer eedoen
2. e &) ardoen

3. 3334 ardoen

4. JOGWE aeetren

The 'A-Horizon' in the soil layers is called as

1.

2
3.
4

Surface litter
Top soil

Sub soil

Bed rock

J0 §BeroS’ 'A - §820" S 3o Devr.

1.

2
3.
4

DOQAD DTTOS® ErES D T ($8)S 9¢5)
ED0SO $BE (&S Fro0d)

& 588 (RS Fowd)

585 8o (B& o°F)



135.

136.

Identify the incorrect pairs from the following

A) Inheritance of acquired characters

B) Natural selection
C) Population theory

1.
2.
3.
4.

Aand B
BandC
C only

Aand C

- Jean Baptist Lamark
- Malthus
- Charles Darwin

308 T 00& DO WS K0S,
A) 88 Kero oDS085E -
B) (25)®58e30 -

C) s ?ocgoéo -

1.

2
3.
4

A o8 B
B S08ac5w C
C s

A 0850 C

Scabies mites are

1. Micro arthropods

2 Bacteria

3. Protozoans

4 Micro fungi

Xz (§300e0

1. 5y ea@::ﬁczv e
2. @rSdairen

3. (>SS Syen

4. gy 3do(gsmoen

) TR SRV

R

&

e
D°00 c;°6035



137. One of the following is not necessary in the blood group
identification kit to find out ones blood group

1. Anti — A sera

2 Anti — B sera

3. Anti — AB sera
4 Anti — RhD sera

2.8 55§ Rl 85 ISP KDoihesH 558 98) d8s0H
GOESSHB0 BAA.

1L o508 - - dED
a570e3 - D) - DS
A0 - D - DK
508 - e85 TS & DS

Lol

138. Root hairs are formed from this tissue
1. Meristematic tissue
2 Dermal tissue
3. Ground tissue
4

Vascular tissue

SorBaren Ss E83200 S00é 5,360)65@1033.
1. Z)arzsag Ee325°00
éyﬁ fartrslole)

LOGPANE B3z 00

L

(@0Tes Eerere0



139.

140.

In general the number of cells and nuclei present respectively in an
embryo sac of flowering plants are

FTE0m N0 0% 08" 20&5%90S™) Seren, @0
So|see dopg SV

1.

2
3.
4

8,7
6, 8
7,8
6,7

The ability of a cell or an explant to regenerate into a complete plant

is called

1. Callus

2 Soma clones

3. Somatic embryoids
4 Totipotency

2.5 5890 @ IE)L0E5 SIS ©0SES FHYS® YO oK,
DIVENG TOLER) T WOLTD.

1.

L

ST
(qp]
P55 en
™
A DoceeTen

eseébaib



141.

142.

In human nervous system the pineal body is located at

1.

2
3.
4

Cerebrum
Cerebellum
Diencephalon

Medulla oblongata

553 &35S BAHE (Ko TSI
(] ()

1.

2
3.
4

S0y, 309
5N, I
cszgdﬁsgéoo
oS0

Symptoms of diabetes insipidus in human being are

1.

2
3.
4

More urination with lower concentration
No urination
More urination with higher concentration

Normal urination with higher concentration

SS90 SoTrBES gARES FgRe¥E0

1.

Lol

BSOS ES SOR, wOE SJ(GIDYS B0
H(EADGS esRF S0

QY S SOR, ©BS STSIDYS BAEo
QY MES SO, FErdes Sar|BOIYS BAHEo



143. ART centers are established
1. to treat renal failure patients

2. to provide medical facilities for HIV patients
3. to treat Rabies patients
4, to provide medical facilities for arteries failure patients

ART Zolgren JBE%00 Qom)en BchHezrow.

L Sor@horre SgRUie D88)E%0

2 HIV Ss@i0% 38§ 9eoardio 591056708

3. 3OS TgRUikgon D885

4 $S0%00 VB DIV 08 F3g VIO EDYoIEE



144. Mosaic disease is caused by the micro organism in Tobacco

1 Bacteria

2 Virus

3. Protozoa

4 Fungi

PSS’ oo =50 SerED Grg,E

1. asogaoéyo
2. S8R
3.  @beststae

4. B3doso



145.

146.

PR EeR - w6 -2 -8 -5

Preparation of improvised apparatus is

1. an observational skill
2 a drawing skill

3. a manipulative skill
4 a reporting skill

(DRI HOET e ST IALROKEO &SI
1. B8 SVesg0
DSBS SVeag0

TPRETD FDEAO0

L

D35S SVeag0

"Order of Evolution of Universe" can best be taught through these
type of charts

1. Tree chart

2. Flow chart

3. Comparison chart
4, Table chart

“DHDOETR (EITR)” Be Y T TR0 I SHoSSEY)

1. Iy T8

2. (DI T8
3. FOE ey
4. Beod o



147. According to the educationist Coben, 3.5% of learning takes place
through this sensory knowledge

148.

1.

2
3.
4

Taste
Smell
Touch

Hear

S0 00 IS (95750 3.5% w050 S 0B §LF0 T

BenHedod
1. D
2. NS
3. éo)é?}
4. Q30

According to Cunnigham's definition on curriculum ‘ideals’ represent

1.

WD

Aims and objectives
Values and specifications
Attitudes and aptitudes

Interests and habits

DFYDETHEP EYPYORIP0 DT (5750 ‘estsoryes’ DB

p.—l

L

&RTO $oBAN OF°§e0

I~y aQ
DenSeo HOCED B)EBeLn
PO HHBAD B T JoTD
@O O YOI



149. The three key components in educational process are,

150.

1.

2
3.
4

Aims, values and specifications
Objectives, learning experiences and evaluation
Teaching methods, tools of evaluation and curriculum

Teaching Learning Material, syllabus and examinations.

3@5@@05363550 Sores> $o¥ Soren.

1.

L

SRT), VT, V)RETEI)
Q ©
OFI0 @eﬁgémmzﬁmw, m@50§5o
FET DESoe, JrUT0ES FETe), ATYDETVY
S TGOS DR, IACH (PeTVE, HEFew

Text book should encourage

1.

2
3.
4

Teaching
Memory
Self learning

Practice

TEFIRTO (FPERTOTIONIE.

1.

WD

AN
D @@
bogoﬁoo @2;5565

@2,5"5260



